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 2משוואות ובידוד משתנה 
 

 

1. 3
2

z
yx  

2zy5.1x5.1  

 zx zy ?  
 

(1) 41-   (2) 41   (3) 81-   (4) 81 
 
 

2. 12ba 22  

6ba  
a b ?  

 
 (1) 3-   (2) 6-   (3) 9-   (4) 12- 

 
 

3. 4yx 32  

 8yx 23  

 ?yx  
 

 (1) 32   (2) 8   (3) 4   (4) 2 
 
 

4. 6
2

a
b  

b
a 9

2
  

?ba  
 

(1) 4   (2) 3   (3) 2   (4) 1 
 
 

5.   ?2111121313 22  
 

(1) 1   (2) 11132   (3) 1132   (4) 1112  
 
 
6. cba  

  ca72b  

 ?b  
 

(1) 1   (2) a50   (3) c50   (4) אף תשובה אינה נכונה 
 
 
 
 
 
 
 
 
 


